
Jacket On  
. 
. 

Count: 32 Wall: 4 Level: Improver 

 Choreographer: Gudrun Schneider (DE) - November 2021 

Music: Jacket On - Mike Ryan 
. 
 
The dance starts after 16 counts 
 
POINT FWD, POINT R, BEHIND SIDE CROSS, SIDE-TOUCH-SIDE, BEHIND SIDE CROSS 
1-2 RF touch forward, RF touch right 
3&4 RF step behind LF, LF step left, RF cross over LF 
5&6 LF step left - RF touch beside LF - RF step right 
7&8 LF behind RF, RF step right, LF cross over RF 
 
SIDE R - TOGETHER - STEP FWD, ROCK STEP, ½ TURN L 2x, SAILOR ¼ TURNING L 
1&2 RF step right, LF step beside RF, RF step forward 
3-4 LF rock forward, recover on RF 
5-6 ½ turn left, LF step forward (6:00), ½ turn left, RF step back (12:00) 
7&8 LF cross behind RF - ¼ turn left, RF step beside LF, LF step forward (9:00) 
RESTART (in 5th round 6:00) 
 
HEEL R FWD, TOUCH R BACK, STEP, ½ TURN L, SHUFFLE ½ TURNING, ½ TURN L 2x 
1-2 RF heel forward, RF touch back 
3-4 RF step forward, ½ turn left (3:00) 
5&6 ¼ turn left, LF step right, LF step beside RF, ¼ turn left, RF step back (9:00) 
7-8 ½ turn left - LF step forward (3:00), ½ turn left (9:00) - RF step back (Option: step back L+R) 
 
COASTER STEP L, PADDLE TURN ¼ L 2x, JAZZ-BOX, 
1&2 LF step back, RF step beside LF, LF step forward 
3-4 ¼ turn left - RF point right (6:00), ¼ turn left - RF point right (3:00) 
5-6 RF cross over LF, LF step back 
7-8 RF step right, LF step forward 
 
TAG 1 (after 2nd round) 
POINT FWD, POINT R, BEHIND SIDE CROSS, POINT L - ¼ TURN L, CLOSE 
1-2 RF touch forward, RF touch right 
3&4 RF step behind LF, LF step left, RF cross over LF 
5-6 LF point left - ¼ turn left, LF step beside RF 
 
TAG 2 (after 4th & 6th round) 
SWAY R+L 
1-2 sway hips right and left 
 
Have Fun! 
 
Contact: gudrun@gudrun-schneider.com - www.gudrun-schneider.com 
 
Music-Link: 
iTunes - https://music.apple.com/de/album/jacket-on/1585783938?i=1585783988&l=en 
 
Amazon - https://www.amazon.de/Jacket-
On/dp/B09G6NCTN3/ref=sr_1_1?__mk_de_DE=%C3%85M%C3%85%C5%BD%C3%95%C3%91&keywords=j
acket+on+mike+ryan&qid=1638105257&sr=8-1 
 


